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Answer Section
SHORT ANSWER

1.
ANS:


Whatever must be given up to obtain some item it its opportunity cost. Basically, this would be a person's second choice. The opportunity cost of a person attending college is the value of the best alternative use of that person's time, as well as the additional costs the person incurs by making the choice to attend college. For most students this would be the income the student gives up by not working plus the cost of tuition and books, and any other costs they incur by attending college that they would not incur if they chose not to attend college. A student's opportunity cost of coming to class was the value of the best opportunity the student gave up. (For most students, that seems to be sleep.)
PTS:
1
DIF:
2
REF:
1-1
NAT:
Analytic

LOC:
Scarcity, tradeoffs, and opportunity cost

TOP:
Opportunity cost

MSC:
Interpretive

2.
ANS:


The concept of working longer per year would be perceived by many teachers as a definite increase in the cost of teaching. Even with additional compensation, many teachers look at summers off as a major benefit of the education profession. If this benefit were eliminated or diminished, some teachers may perceive that the marginal cost of teaching would now be greater than the marginal benefit and would choose to leave teaching.
PTS:
1
DIF:
3
REF:
1-1
NAT:
Analytic

LOC:
The role of incentives

TOP:
Incentives
MSC:
Analytical

3.
ANS:


If there is a market failure, such as an externality or monopoly, government regulation might improve the well-being of society by promoting efficiency. If the distribution of income or wealth is considered to be unfair by society, government intervention might achieve a more equal distribution of economic well-being.
PTS:
1
DIF:
2
REF:
1-2
NAT:
Analytic

LOC:
Markets, market failure, and externalities | The role of government

TOP:
Market economies | Government
MSC:
Applicative

